Abb. 1: KV-Tabelle
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Wahrheitstabelle: variablen
Nr. Eingang Ausgang

DCBA \ AABAEA]_J AABACA]_J EI\B/\C/\]_D RAB/\E/\B D
0 0000
1 0001
2 0010 B
3 o011 1 _ _
4 0100 0 AABACAD | AABACAD | AnBACAD | AaBaCAD
5 0101 0 Logische |7 1
6 0110 1 Gleichung 4 D
7 0111 0 entspricht
g 1882 2 Eingdng AABACAD AA_BACAD AABACAD RAEAEAD
A 1010
B 1011 0 Ergebniss
C 1100 0 in das .
D 1101 1 ZugehO?lge AABACAD AAEACAB AABACAD ;AEAEAB D
E 1110 1 Feld ein-
F 1111 1 tragen

Abb. 2: Eintragen der Werte: I J— N
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Abb. 3: Vereinfachen:

Und noch alles mit ODER &5”//§//// -----

zusammenfassen:
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